Worksheets

Worksheet 1
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10.

Write the multiplication table of 4.
Multiply 299 by 88.

Multiply 5807 by 6.

Multiply 1397 by 59.

Multiply 289 x 493.

Multiply 3056 x 205.

In a movie theatre, there are 48 seats in a row. There are 26 such rows. How many
seats are there in all?

Estimate the product of 342 x 159, by rounding off each number to the nearest ten.

Estimate the product of 555 x 111, by rounding off each number to the nearest
hundred.

The cost of 1 cupboard is ¥ 4999. What is the cost of 9 such cupboards?

Worksheet 2

10.
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Write the multiplication table of 7.

Multiply 403 by 76.

Multiply 6913 by 8.

Multiply 3654 by 27.

Multiply 502 x 237.

Multiply 1987 x 345.

One chair costs ¥ 2089. What will be the cost of 6 chairs?

Estimate the product of 476 x 123, by rounding off each number to the
nearest ten.

Estimate the product of 648 x 273, by rounding off each number to the
nearest hundred.

In a bakery, there are 288 buns in a tray. How many buns are there in 9
such trays?

Answers to Worksheet 1

1.

2.

1x4=4,2%x4=8;3%x4=12;4x4=16;5%x4=20;6x4=24;,7 x4 =28;
8x4=32,9%4=36;10x4 =40

26312



3. 34842 4. 82423
5. 142477 6. 626480
7. 1248 seats 8. 54400
9. 60000 10. 44991

Answers to Worksheet 2

1. 1x7=7;2x7=14;3x7=21;4x7=28;5x7=35;6x7=42;7 x7 =49;
8x7=56;,9%x7=63;,10x7=70

2. 30628

3. 55304 4. 98658

5. 118974 6. 685515

7. 12534 8. 57600

9. 180000 10. 2592 buns





